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QUESTION 1

Usage transactions can contain date breaks. Which is used to supply date breaks? 

A. the Deferred Monitor Calculation Algorithm 

B. the Usage Subscription Type 

C. the requesting system or user input 

D. the Usage Subscription BO 

Correct Answer: B 

 

QUESTION 2

When creating a new business object for a service point (SP), what items are required to be able to view and update the
new elements associated with the SP? 

A. Maintenance Object, Application Service, and Schema 

B. Schema, Validation Algorithm, and Maintenance UI Map 

C. Display UI Map, Display Map Service Script, and Maintenance UI Map 

D. Validation Algorithm, Post Processing Algorithm, and Lifecycle 

Correct Answer: A 

 

QUESTION 3

If a customer makes a payment for more than what is due for the account, which entity contains the logic for how this
overpayment should be handled? 

A. Tender Type 

B. Installation Options 

C. Customer Class 

D. Pay Segment Type 

E. Service Agreement Type 

Correct Answer: BCE 

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18368_V1_01.pdf 

 

QUESTION 4
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Which three statements are correct for Adjustment Types? (Choose three.) 

A. They can default an Adjustment Amount to adjustments. 

B. They control how adjustments appear on bills. 

C. They control whether a rate is to be called to calculate an adjustment amount. 

D. They control the valid Service Agreement Types that adjustments can be linked to. 

E. They control the valid Adjustment Profiles that adjustment types can belong to. 

Correct Answer: BCD 

 

QUESTION 5

When you cancel a payment, what will the system automatically do? 

A. generate a new Financial Transaction to reverse the original Financial Transaction 

B. cancel all tenders associated with the payment 

C. impact the credit rating 

D. charge a NSF Fee for the payment cancellation 

Correct Answer: D 
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